Quadratic Functions and Equations

Name _____________________











Date   ___________________

UNIT TEST

Instructions:  Write complete solutions (show the steps) to receive full marks.

1. Simplify the following.

a. 
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b. 
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2. For what value(s) of k does the equation   
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 have one root?

3. Determine the number of zeros of 
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4. Write an equation of a quadratic function that opens down and has two zeros.


5. Solve by factoring.

a. 
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b. 
[image: image10.wmf]x

x

12

)

1

3

(

2

-

=

-


  

 

6. Solve using any method. State your answers in the simplest exact form.

a. 
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c.
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d. 
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7. Show that if k is any real  number, the equation 
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 always has real roots.


8. Find three consecutive integers so that the square of the second increased by the product of the other two is 199.


9. A player hit a baseball.  If the height 
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, in metres, of the ball is given by 
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 is the time in seconds,

a. What maximum height does the ball reach?


b. At what height above the ground was the ball hit?


c. If the ball is caught at the same height at which it was hit, how long is it in the air?


10. Determine the equation of the quadratic function in standard form if it passes through  (-4, 5)  and has the x-intercepts  
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11. A rectangle has a length that is 3 m more than twice the width. If the total area is        67 cm2, find the dimensions of the rectangle to the nearest hundredth.


Bonus. If 
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 find the value of c.




______ /1





______ /2








Total ______ / 58





______ /3





______ /3





______ /3





______ /9





______ /6





______ /11





______ /4





______ /5





______ /5











______ /3





______ /1





______ /3








_1414956973.unknown

_1414957460.unknown

_1414958783.unknown

_1414996093.unknown

_1414996469.unknown

_1414996526.unknown

_1414958820.unknown

_1414957626.unknown

_1414957871.unknown

_1414957597.unknown

_1414957043.unknown

_1414957054.unknown

_1414957017.unknown

_1351443668.unknown

_1351445039.unknown

_1414956883.unknown

_1351445034.unknown

_1351445030.unknown

_1351442367.unknown

_1351442905.unknown

_1245347196.unknown

_1255688138.unknown

